Calculus BC – Chapter 5 - Even Answers (F.T.D.W.)
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Section 5.7
*I’ve got a good little

program for calculating

SL , SR , SMidpoint , STrap 

(Forget about Simpson’s

Rule for now!)

2.(a) 11/4

(b) 8/3

(c) 2

4. (a) .50899

(b) .50042

(c) .5

6. (a) 1.89612

(b) 2.00456

(c) 2

8. fnInt = 9.52135548276

STrap = 9.519, 9.52133, 
9.5213552

SSimp = 9.52128, 9.52135547, 9.52135548278

SL = 9.01, 9.47, 9.516

SR = 10.023, 9.57, 9.526

SMid = 9.5227, 9.521369, 
9.5213556

10. fnInt = 1.60955297869

STrap = 1.535, 1.6088, 
1.609546

SSimp = 1.63, 1.6095547, 
1.60955297886

SL = 1.535, 1.60886, 
1.609546

SR = 1.535, 1.60886, 
1.609546

SMid = 1.649, 1.6099, 
1.609556

12. fnInt = 1.944137011531

STrap = .966, .94435, .944139

SSimp = .94386, .94413698

SL = 1.41, .989, .9486

SR = .52, .8999, .9397

SMid = .933, .94403, 
.9441359
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Practice Exercises (continued)
52. Note the vertical shift

54. Two functions differ 

by a constant

56. “I” cannot have an 

elementary formula

58. x = 1.421

60. D = (0, 
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62. Both integrations are

correct. The seemingly 

different solutions differ 

by a constant.

64. (a) true

(b) true

(c) true

(d) false

(e) true

(f) false

66. dy/dx = 3

68. (a) y = cos x + x2 + 2x + 2

(b) 
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70. b

72. 
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74. 2a/3

76. Need 26 subdivisions

78. n = 8 (must be even)

14. .00001333...


16. (a) n > 115.47


(b) say n = 2


18. (a) n > 70.71


(b) n = 10


20. (a) n > 160.74 say n = 161


(b) n = 12


22. 1.08942941322


1.08942941322


24. .828116396058


.828116333053


26. (a) .64, .73


(b) .77095, .0948


(c) .1927, .0059


(d) .0308, 1.5x10-4


(e) .721493833901


28. 


max |y1 – y2| = .004


30. 3.6825, 3.6822


32. (See Simpson’s Rule)


34. 10.63 ft


36. 0.62 L/min


38. 51.605 kwh


40. 1.727379


42. (See inverse relations)


44. With n = 100,


1.57105469968


within .001 of the fnInt value.














Practice Exercise


2. (b) 80, 125, 101.25


4. SL = 3.64, 3.9604, 3.996004


SR = 4.44, 4.0404, 4.004004


SMid = 3.98, 3.9998, 3.999998


6. SL = .886819, .8862269,


.886226925


SR = .886319, .8862269, 


.886226925


 SMid = .886135, .8862269, 


.886226925


8. (a) 90


(b) 112


10. (a) 7


(b) 5


(c) 8


(d) 11/30


12. � EMBED Equation.DSMT4  ���


14. 148/3


16. (a) True 


(b) True


(c) False


18. � EMBED Equation.DSMT4  ���


20. 1.14159


22. 4


24. 3


26. 2


28. 13


30. 0


32. 2


34. � EMBED Equation.DSMT4  ���


36. 2


38. 0


40. 0


42. 2.1972


44. 0


46. 7


48. 147/8


50. 1
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